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1 BETHHE 0.07 - 0.08 -
9| BB 0.07 - 0.08 0.08
B BEREM 0.07 - 0.07 -
4 AR HE 0.07 - 0.07 -
| ] SIERER 0.07 - 0.06 -
6] ERHE 007 - 007 -
K REEBLED - _ N -

8 BUOTEREE 0.07 - - -
o] HDEHHE 0.07 - 0.07 -
| 10| AYREEEILY 0.06 - - -
| 10AH GENNKI-C R EE 0.06 - - —
12 R E AR 0.07 - 0.06 -
| 13] =ARAEE 0.06 _ N _
14 Xy XAV REE 0.06 - - -
15 F|0EYkE 006 - 007 -
E E %’Eﬁ’:’é‘ﬁﬁ 0.06 0.06 0.06 -

17 B |[gam 277 oo - - 0.07
18] REFLU-CSVFEAABE| 006 0.08 - -
19 REEIE-HIEC 0.06 - _ _
| 20| Hh&LEEE 0.06 0.06 0.06 -

21 KRB 0.06 0.06 0.06 -
| 22| E/vFAt 0.06 0.05 - -
[ 23 KRB 0.06 0.05 0.06 -
24 VEDYREE 0.06 - 0.05 -
| 25 EREER 005 - 0.06 .
| 26| 10A78 EERER 0.07 0,07 0.07 -
7] REUHNLEEE 0.05 - - -
| 2| EILFHHE 0.09 0.09 0.08 -
[ 29] FREHE 0.06 - 0.07 -
E) HAMEE R 005 0.06 - -
[ 31] BECEHE 0.08 - 0.08 -
| 32 T REFIIREFR 0.06 - 0.07 -
% 108138 f@ D_tg:{i’:ia i 0.06 0.07 o.(j7
| 34 = |- =1z 0.08 0.09 0.08
35 KIHREFR 0.08 0.08 0.07 -

36 EIIRERM 0.08 0.06 0.07 -
El LHARER 0.06 0.06 0.06 0.07
E a1 EHERER 0.07 0.06 0.05 -
% 10A8H E ;;z:ﬁi:iam 0.06 0.06 0.06
| 40] o HRER 007 0.06 0.08 0.07
4 BXEREM 0.07 0.06 0.06 0.07
42| AOUREE 0.06 0.07 - 0.06
| 43] FYRREE 0.05 - 0.05 -

44108138 | #& (FEKREM 0.07 0.07 - -

45 1t |Eagam 0.07 0.06 0.06 0.06
| 46| 10858 tJH_E TRREHR 0.08 0.06 0.06 0.07
47 X [f8IIEREM 0.08 0.06 0.07 0.08
48| 10A18 | 4t |(HEMREEH 0.08 - - -
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